[ Efficiency vs vertpos |

—_
+—

0.5

.................................................

.................................................

..........................................

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_mod-127

Efficiend —— pQM_TT__mkFit-DQM_mod_updated-127

N

$0.45

[
>
>

2
£0.35

effic

0.25

0.15

0.05

Ratio

0.5

0.4

0.3

0.2

0.1

Vs

[y

o

13
oS
S

-20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

>
8.0.45

E
7

20.35

iency

0.15

Ratio

£0.25
[J]

0.05]

0.5

0.4

0.3

0.2

0.1

0

.................................................

.................................................

..................................................

FRVS)

I
i
+

0.952

20 =15 -10 -

Sim. PV z (cm)



	Contents
	Page 1


